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Simplify the ratio: 60 to 96
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Cats or Dogs¢ The class voted and discovered
that 16 students prefer dogs and 6 students
prefer cats. Write the ratio of students who
chose 1shose who chose

in all

three ways. Be sure to simplify your ratio!
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"N : | Thistape diagram shows the retationship

. between the number of origami cranes Kristen

f' can make compared to the number of hours

J

- MISS Vmborg eam@d a $135 paycheck from |
Justice after workn‘ig 15 howrs over :
Thonksglvmg break. What is Miss Vinborg's
hourly ro’re of pay?

she worked. What is the ratio between the
' number of origami cranes Kristen can make
per hour?
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" Grandma i is de{:mﬂng her windows with
- snowflake dee.ab for fhie holidays. She has 96
I fotal decals:and wants each of the 8 window
pones to: have ’rhe same number of decadls.

‘ ! Whatis the unif rate for one window pane?
| Write a comparison statement using “for

. every" or “per" to describe the relationship.
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plot the equivalent ratios. as @rad pairs on
the coordmo’re grid.
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Using the completed Tome from Qmes"non #16, /

* 12 deeals per Nu\dow

* Four every:” ﬂ_ wu\olwl -Pne,ro
Gve VL decals.
Miss Vinborgy is making sugﬂr Qo@kles fora

Cookie Partyt Cemplete the rate table below 3E _
| to show the relationship between the amount | @& -
. of flour and sugar she needs for the recipe. ‘ _
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Cups of brown sugar




